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MATH 240, Exam #1 Practice, Summer 2017

Name

KEY

Instructions: Show all work. Answers without work required to obta
credit. Some questions may contain multiple parts: be sure to answse

unless specifically asked

1. Letd = (1,2,4)

“4v o1, 2,UP -4<
=&, 2,4>+ 4,6, -3LS

=

to estimate.

and ¥ = (—1,0,8). Find
- ‘, O) &$

=)
<

=l
=

1

V=KL, 4> - 1,0, 8>S

~ <2,Z,'—-4>

L

| = BT%'?}%A-O‘ z

J2u

1 A
W=v
\ 4+41410
F z{g
2. Find the equatio

answer in:
a. Parametric f

Y= (2-O0F

b. Symmetric fc

———x-‘ ’L

n of the line that passes through the points

+(2-st)y 4 (b2 k

prm

—
A

—\

in the solution will not receive full
or all of them. Give exact answers
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5. The projection of the vector i in the direction of ¥ is given by projzi = %) ¥. Find the
¥ = (7 — 3,4). (8 points)

projection of the vector i = (3, —2,9) in the direction of the{vector
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7. Three people log
the magnitude a
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ated at 4, B, C pull on ropes tied to a ring. |
nd direction with which C must pull so that 1
u may round your final answer to 2 decimal
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f A and B are pulling as shown, find
10 one moves (system is in
places. (12 points)
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le traveling along a path determined by 7(t
city of the object. (3 points)

peed of the object? (3 points)
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9. Avolleyball is hit

point of impact

team untouched|
Find a vector

a.
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b. How high dogs the volleyball go? (4 points)

C.

d. Whenis the

What is the acceleration of the object? (3 points)

Find its range. (4 points)
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e. Suppose tha
work. (4 poi
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12. Find the curvature of the curve given by 7(t) = ti + 2t2] + 3tk. (10 points)
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